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ANTHROPOLOGY
Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Which one of the following is associated with the first use of fire in the course of human
evolution ?

(1) Neanderthal Man (2) Cro-Magnon Man
(3) Homo erectus (4) Australopithecus

2. Who among the following discovered the first Dryopithecus mandible fossil in France ?
(1) Raymond Dart (2) Louis Leakey
(3) Davidson Black (4) Lartet

3. Which of the following is a geographical race as per Garn (1965) ?
(1) African (2) Malay
(3) Caucasoid (4) Mongoloid

4. A child with blood group ‘O’ cannot have parents of blood groups
(1) AXB (2) ABxO
3) BxB 4 OxO0

5. A method of study which involves living as a member of the society under study and
sharing in day-to-day activities is known as
(1) Participant observation (2) Non-participant observation
(3)  Survey method (4) Case-Study method

6.  The concept of ‘culture shock’ denotes
(1) The mental distress caused by adjustment in a different culture.
(2) Male anthropologists having problems with interviewing female informants.
(3) The mental distress caused by hazardous field-work.
(4) Involves himself in solving people’s problems.

7.  Potlatch among north-western American-Indians is an example of
(1) Redistributive exchange (2)  Culture of poverty
(3) Political alliance (4) Reciprocal exchange

8.  Which of the following articles of the Indian Constitution empowers the President to
declare an area as ‘Scheduled Area’ ?

(1) Article 275 (2) Article 244
(3) Article 165 (4) Article 365
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10.

11.

12.

13.

14.

Which of the following techniques produces fluted core ?
(1) Block on block technique  (2) Clactionian technique
(3) Levalloisian technique (4) Punch technique

Which of the following methods of Archaeology does not belong to statistical method ?
(I) Correlation (2) Multivariate
(3) Histogram (4) Standard Deviation

Identify the well-known primatologists who have conducted extensive studies on living
primates. Use the codes given.

(a) F.Vogel (b) Jane Goodall
(c) Napier (d) Dian Fossey
Codes :

(1) (a), (c)and (d) (2) (b) and (d) only
(3) (b), (c) and (d) (4) (a), (b) and (c)

Which of the following anthropologists have contributed to the Kin-anthropometric
studies ? Use the codes given.

(a) Pranab Ganguly (b) L.S. Sidhu
(¢) K.C. Malhotra (d) S.P. Singh
Codes :

(1) (a), (b) and (c) (2) (b), (c) and (d)
(3) (b)and (d) (4) (a), (c) and (d)

Which one of the following are the features of X-linked recessive inheritance. Use the
codes given.

(a) The trait is never passed from father to son.

(b)  All daughters of an affected male and a normal female are affected.

(c) Inthe general population, males are more likely to be affected than females.
(d) Transmitted through unaffected females.

Codes :
(1) (a), (b) and (c) are correct (2) (a) and (d) are correct
(3) (b) and (d) are correct (4) (a), (b) and (d) are correct

Identify the characteristic features of Rh blood system. Use the codes given.
(a) It can cause hemolytic disease.

(b) It has sex-linked inheritance.

(c) Itis acomplex genetic system.

(d) It was discovered by Landsteiner & Wiener.

Codes :

(1) (a), (b) and (d) are correct. (2) (a), (b) and (c) are correct.

(3) (b), (c) and (d) are correct. (4) (a), (c) and (d) are correct.
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15.

16.

17.

18.

19.

20.

Which of the followings are characteristics of Anthropology ? Use the codes given below.

(a) Field-work (b) Participant observation
(c) Cultural relativism (d) Egocentric approach
Codes :

(1) (a) and (d) are correct.

(2) (a), (b) and (c) are correct.

(3) (a), (b), (¢) and (d) are correct.
(4) (a), (b) and (d) are correct.

Which of the following anthropologists are considered as classical evolutionists ? Use the
codes given below :

(a) E.B. Tylor (b)y L.H. Morgan

(c) J.J. Bachofen (d) Leslie A. White

Codes :

(1) (a), (b) and (c¢) are correct. (2) (a), (b) and (d) are correct.

(3) (b) and (d) are correct. 4) (a), (b), (¢) and (d) are correct.

Socio-cultural change can be brought by the following sources. Use codes given below.
(a) Discovery (b) Invention

(c) Borrowing (d) Transaction

Codes :

(1) (a), (b) and (c¢) are correct. (2) (a), (b), (¢) and (d) are correct.
(3) (b), (c) and (d) are correct. (4) Only (b) and (d) are correct.

In which of the States the Fifth Schedule applies ? Use the codes given below.

(a) Andhra Pradesh (b) Uttar Pradesh

(c) Himachal Pradesh (d) Gujarat

Codes :

(1) (a) and (b) are correct. (2) (a), (c) and (d) are correct.

(3) (b), (c) and (d) are correct. (4) (b) and (d) are correct.

What kind of changes was/were responsible for ice age ?
(a) Amount of solar radiation reached on earth

(b) Change of earth’s orbit

(c) Magnetic polarity shifted

(d) Sea level changed

Codes :
(1) (a) and (b) are correct. (2) (a), (b) and (c) are correct.
(3) (c) and (d) are correct. (4) (a) and (d) are correct.

Select the correct answer for the Indus Valley people from the following with the use of
codes.

(a)  Social stratification was present.

(b) Possessed uniform administrative system.

(c) They were massacred by the Invading Aryans

(d) Navigation was unknown to people.

Codes :
(1)  Only (a) is correct. (2) (a) and (b) are correct.
(3)  Only (c) is correct. (4) (c) and (d) are correct.
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21. Given below are two statements, one is labeled as Assertion (A) and other is labeled as
Reason (R) :
Assertion (A) : Bioarchaeologists study skeletal remains from archaeological sites to
know the history of human populations and individual humans.
Reason (R) : Forensic anthropologists on the other hand use skeletal remains in criminal
and legal investigations.
In the context of the above two statements which one of the following is correct ?

Codes :
(1) Both (A) and (R) are wrong. (2) (A) is correct, but (R) is wrong.
(3) Both (A) and (R) are correct. (4) (A) is wrong, but (R) is correct.

22. Given below are two statements, one is labeled as Assertion (A) and other is labeled as
Reason (R) :
Assertion (A) : Tendency of one crossover interfering with another is called interference.
Reason (R) : Linkage is the measure of recombination.
In the context of the above two statements which one of the following is correct ?

Codes :
(1) (A)is true and (R) is false. (2) (A) is false and (R) is true.
(3) (A)is false and (R) is also false. (4) (A)is true and (R) is also true.

23. Given below are two statements, one is labeled as Assertion (A) and other is labeled as
Reason (R) :
Assertion (A) : The largest ape Gorillas inhabit the forested areas of Africa.
Reason (R) : Their range is disappearing rapidly due to poaching and encroachment of
their habitat.
In the context of the above two statements which one of the following is correct ?
Codes :
(1) (A)is true and (R) is false.
(2) (A)is false, and (R) is true.
(3) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

24. Given below are two statements, one is labeled as Assertion (A) and other is labeled as

Reason (R) :

Assertion (A) : Phenylketonuria is the result of a deficiency of an enzyme phenylalanine
hydroxylase.

Reason (R) : PKU is a striking example of the relationship between genotype, phenotype,
and the environment.

In the context of the above two statements which one of the following is correct ?

Codes :

(1) (A)is true and (R) is false.

(2) (A) is false and (R) is true.

(3) (A)is false and (R) is also false.

(4) (A)is true and (R) is also true.
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25. Given below are two statements, one is labeled as Assertion (A) and other is labeled as
Reason (R) :
Assertion (A) : Anthropology is the study of all aspects of man of all time and space.
Reason (R) : All aspects of man could only be classified into two main categories i.e.,
Social-cultural and Biological.
In the context of the above two statements which one of the following is correct ?
Codes :
(I) (A) is true and (R) is not true.
(2) (A) is false and (R) is true.
(3) (A)is false and (R) is also false.
(4) (A)is true and (R) is also true.

26. Given below are two statements, one is labeled as Assertion (A) and other is labeled as
Reason (R) :
Assertion (A) : The classical evolutionists are also called universal evolutionists.
Reason (R) : They (classical evolutionists) believed that culture developed in a single line
from simple to complex form.
In the context of the above two statements which one of the following is correct ?
Codes :
(I) (A)is true and (R) is not true.
(2) (A) is false and (R) is true.
(3) (A)is false and (R) is also false.
(4) (A)is true and (R) is also true.

27. Given below are two statements, one is labeled as Assertion (A) and other is labeled as
Reason (R) :
Assertion (A) : Endogamy means marrying outside the group.
Reason (R) : Tribe and clan are called endogamous groups.
In the context of the above two statements which one of the following is correct ?
Codes :
(I) (A)is true and (R) is not true.
(2) (A) is false and (R) is true.
(3) (A)is false and (R) is also false.
(4) (A)is true and (R) is also true.

28. Given below are two statements, one is labeled as Assertion (A) and other is labeled as

Reason (R) :

Assertion (A) : When a husband pretends pregnancy and labour pain and maintains all the
taboos maintained by her pregnant wife, it is called ‘couvade’.

Reason (R) : The custom of ‘couvade’ emerged in human society when matriarchy was
being replaced by patriarchy.

In the context of the above two statements which one of the following is correct ?

Codes :

(I) (A)is true and (R) is not true.

(2) (A) is false and (R) is true.

(3) (A)is false and (R) is also false.

(4) (A)is true and (R) is also true.
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(2) (A) T &, e (R) W& & |

(3) (A) TG & AR (R) M T € |

(4)  (A) TEIE R (R) T W& & |

T 37 e GU MU € | U R SIRTHE (A) T TE B A (R) FET AT E |

ATUHYT (A) : U FRT U T ot St X Te e, TEe Shi e e J Jelt o
T UTeT S & AN I U7 T Pag Fedl ¢ |

% (R) : AT TUST H FHog DI TAT Sl ST a9 §8 56 [UgEicHs e, HIgaTcshal i
STTE o @ ot |

ST Al & Hed | e | W i we e 0

&

(1) (A TEE AT (R) T TR |

(2) (A TTod & 3R (R) T&T & |

(3) (A) T & 3R (R) H T € |

(4) (A TEIE R (R) T W& E |
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29. Given below are two statements, one is labeled as Assertion (A) and other is labeled as
Reason (R) :

Assertion (A) : Bruce Foote was an Archaeologist.

Reason (R) : He discovered Hand axe in India for the first time.

In the context of the above two statements which one of the following is correct ?
Codes :

(I) (A)is true and (R) is not true.

(2) (A)is false and (R) is true.

(3) (A)is false and (R) is also false.

(4) (A)is true and (R) is also true.

30. Given below are two statements, one is labeled as Assertion (A) and other is labeled as
Reason (R) :

Assertion (A) : Sherds of southern Neolithic are too fragmentary to say much about their
design.

Reason (R) : Southern Neolithic potteries were never painted.

In the context of the above two statements which one of the following is correct ?
Codes :

(I) (A) is true and (R) is not true.

(2) (A) is false and (R) is true.

(3) (A)is false and (R) is also false.

(4) (A)is true and (R) is also true.

31. Arrange the following curves which form the S-curve in the human vertebral column in
the head to toe sequence.

(I) Thoracic curve — Lumbar curve — Cervical curve — Pelvic curve.
(2) Cervical curve — Thoracic curve — Lumbar curve — Pelvic curve.
(3) Lumbar curve - Cervical curve — Thoracic curve — Pelvic curve.
(4) Cervical curve — Lumbar curve — Thoracic curve — Pelvic curve.

32. Identify the correct sequence of the following fossils in the chronological order of their
discovery.

(1) Neanderthal Man — Pithecanthropus — Mauer Jaw — Sinanthropus.
(2) Mauer Jaw — Neanderthal Man — Pithecanthropus — Sinanthropus.
(3) Sinanthropus — Mauer Jaw — Pithecanthropus — Neanderthal Man.
(4) Pithecanthropus — Neanderthal Man — Mauer Jaw — Sinanthropus.

33. Identify the correct sequence of phases of cell cycle. Use the codes given.
(H G —->G,—>S->M 2 G —>S->G,»>M
3 Gy—>S—>G ->M 4 G ->S->G,—»>G,>M
Paper-11 12 J-07-16



29.

30.

31.

32.

33.

I 31 P ST MU € | U B SIRTHE (A) TAT TEL B A (R) FET AT E |
AIHHT (A) : T T T [y 4 |

% (R) : Teoll IR 38 & IRA H g% PHoeTe! i @il B |

SRR AT o GeW H T § W hA-H1 TRl E 2

T

(1) (A)TEE AT (R) T TR |

(2) (A)TATE AR (R) T T |

(3) (A) TG & AR (R) M T € |

(4) (A TEIE 3R (R) F W&l & |

I 31 P ST MU € | U R SIRTHE (A) T A B A (R) FRT AT E |

ANHAT (A) : STAUT TIUTOT T o L B Wed & Toh SToh ST & I | F el el ST
Hehell |

qF (R) : A0 AGUISTOT I & gl & ST OR U el g o |

SR BT o G | H ¥ -1 Gl § 2

- T

(1) (A) Tl & oAfe (R) T&l I & |

(2) (A)TdE, WR) TEE |

(3) (A) TG & R (R) M T € |

(4) (A)TEE A (R) T € |

TTeIRae oehi i SFaTId SifsT, ST FaX & WX i STTell 0o bl HIHe Heeh! el § TH-a5h i
e e € |

(1) & o6 — I o — Il ofsh — 0T a6

(2) S o — T8 S — i< a5 — A0T

(3) Hic I - T Tk — T Tk — AT aF

(4) U Ik — IS Tk — 8T sk — 0T gk

T=TeRad STaTeHT i ! TIST & HIeThiaeh Y & SFTIR Tel 5hH § aned Hie |
(1) =TT A — fRrh=end (HiU-Ae) — HiET S — faaaed
(2) TR ST — FTErTe A — Ut (HY-ame) — faaaga
(3) To=mgio — HET S — R (HU-Ae) — SaTieeTe oa
(4) Tutah=ag (HY-HHeE) — ST HHe — HiaY St — faaaend

SHIRTRT =T5h (W TTEfheT) & TRUN o T&l shH i TgdT HitiT | e ST 7T e 1 T Y |
(H G —->G,—>S->M 2 G, —>S->G,->M
3 Gy—>S—>G ->M 4 G ->S->G,—»>G,>M
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34. Identify the correct sequence of the following racial classifications in the ascending order
of their being given by the under mentioned scholars.
(1) H.H. Risley — A.C. Haddon — B.S. Guha — S.S. Sarkar
(2) A.C.Haddon — H.H. Risley — S.S. Sarkar — B.S. Guha
(3) B.S. Guha - H.H. Risley — S.S. Sarkar — A.C. Haddon
(4) S.S. Sarkar — A.C. Haddon — B.S. Guha — H.H. Risley

35. Identify the correct sequence of Dhirendra Nath Majumdar’s work in ascending
chronology. Use the codes given below :
(a) A Fortune of Primitive Tribes.
(b) Caste and Communication in an Indian Village.
(c) Himalayan Polyandry.
(d) The Affairs of a Tribe.

Codes :
(D) (a), (b), (¢), (d) (2) (@), (c), (b), (a)
(3) (a), (d), (b), (¢) 4 (), (d), (o), (b)

36. Identify the correct sequence in descending order of stages in economic developments in
human society.
(1) Industrial stage — Agricultural stage — Pastoral stage — Hunting and Gathering
stage.
(2) Hunting and Gathering stage — Pastoral Stage — Agricultural stage — Industrial
stage.
(3) Pastoral stage — Agricultural stage — Industrial stage — Hunting and Gathering
stage.
(4) Industrial stage — Agricultural stage — Hunting and Gathering stage — Pastoral
stage.

37. Arrange the following Tribal Development Programmes in chronological order. Use the
codes given below.
(a) Special Multipurpose Tribal Blocks.
(b) Tribal Development Blocks.
(c) Tribal sub-plan.
(d) Ashram schools.

Codes :
(D) (a), (b), (¢), (d) (2) (a), (b), (d), ()
3)  (b), (), (c), (d) 4 (b), (a),(d), ()

38. Arrange the following books in chronological order as per their years of publication. Use
the codes given below.
(a) The Rise of Anthropological Theory.
(b) Images of Man.
(c) History of Ethnological Theory.
(d) The Theory of Social Structure.

Codes :
(D) (¢), (d), (), (b) (2) (a), (b), (¢), (d)
(3)  (c), (d), (b), () 4 (), (), (), (b)
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34, A U T TS Fl Tk FRT UKD [T T I TSI SFTeRvll o STTER T TRET 567 &
g HIT |
(1) TvaTT 9ol - T, §e - S.UF. @I — 190G, TWHR
(2) TH. ¥ — TATH. Refel — TH.09. THR — .09, el
(3) NUE. T - AU, Rel — TE.UE, WHR — T, g
(4) TIETE WHR - TH. 7 — AN.0H. el — a0, Reet
35. AT ASHER & [ FEl o TR % Hel STRIE! 3hH i UEd e | e T TN H
(a) 3 BT S Hitafes 2resq
(b) FRE TS FRIFHIA T TA Fea [der
(c) Temmeram wiferagt
(d) T THIY 31 oFf Trd
TN
(1) (), M), (c), (d) 2) (@, (), (b), (a)
(3) (@), (), (), (¢) 4 (a),(d), (c), (b)
36. HFE US| ST [T o Tel STael sy i e Y |
(1) iR ST — P ST — YREAROT T — RIS Te FSROT ST
(2) 3P UF HSRUT el — U[ERIT STEwAT — P T — SRR e
(3) URTEROT YT — P STET — EINTH ST — RIS Te FSROT ST
(4) SR ST — P AT — LT TF HSRUT 3TN — TYARUT ST
37. T ST [aeht IRl Sl FHATRY § Haiedd &Y | § o Taral ¥ el S H 997 6L |
(a) Toom sgeeiia SHeIfa wave
(b) ST o TEve
(c) ST Y-
(d) 3 formerd
ETE
(1) (), M), (c), (d) ) (), ®), (), ()
(3) (), (a), (c), (d) @ (), (a), (d), (¢)
38. (I_;:%*\-_d JEIh] I 3T TP & a9 o SHATER ZERId $Y | e P Teadl ¥ el ST Bl 997
|
(a) T ST AT TUTAATSToheT SRT
(b) THSIS 3TE A
(c) To¥gl i goAttsTeher &
(d) T AR E T LFR
E TN
(1) (0), (d), (a), (b) 2) (), ®), (c), (d)
(3)  (©), (@), (), (a) @ (@), (c), (a), (b)
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39.

40.

41.

42,

Select the correct sequence of activities in archaeological data collection. Use code.

(a) Intensive exploration (b)
(c) Trial trench (d)
Codes :

() (), (), (c), (d) (2)
(3) (0, (d), (a), (b) 4)

Reconnaissance
Excavation

(a), (b), (¢), (d)
(d), (¢), (b), (a)

Select the correct sequence of appearance of the stone tool making techniques. Use code.

(a) Cylinder hammer (b) Prepared core
(c) Block on block (d) Punch
Codes :
() (d), (b), (a), (c) (2) (b, (c), (d), (a)
(3)  (c), (a), (b), (d) 4 (a), (), (c), (d)
Match the following List-I with List-II. Use the codes given below:
List - 1 List — II
(a) Two arms of the chromosome of equal length. (i)  Telomeric
(b)  Centromere slightly off the centre. (i)  Acrocentric
(c) Centromere located at quite near one end of (iii) Metacentric
the chromosome.

(d) Chromosome with terminal centromere. (iv) Submetacentric
Codes :

(a) (b) (©) (d)
() (id) (iv) (i1) (1)
2 @Gv) (i1) (iii) (1)
(C)RNCY (i1) (iv) (iii)
@4 (i) (iii) (1) (iv)
Match the following List-I with List-II. Use the codes given below :

List - 1 List — II

(a) Acetabulum (1)  Sternum
(b) Linea aspera (i)  Os innominatum
(c) Manubrium (ii1)) Cranium
(d) Foramen magnum (iv) Femur
Codes :

(a) (b) (© (d)
1 @ (iii) (i1) (iv)
(2) (i) (iv) (i1) (1)
3 @Gv) (iii) (1) (i1)
@4 (i) (iv) (1) (iii)



39. I Sehel WUEUT i Mdfaredr T &t T T € ? Fe B TErEd § W G |

(2) (), (b), (c), (d)
@ (D, (©),d), (a)

40. TRER SUSHOT AEI0T i f et & wee 1 9El shE T & 2 e T Gerddl ¥ el ST

(b) TR T TR TS

2)  (b), (©),(d), (@
4 (a),(b), (c), (d)

41. TAtAfEd G-I § S T H&7 61 G-Il AR % 9 AT SIS | T ST T % w1 mEn

= - 10
(i) eNHERE®
(i) whEfZH
(i) FeE<H
(iv) GaHeHZH

42. Trfrad gei-1 | & T3 /&l 0 GEl-11 Sl 781 &% a9 GHled SHitg | 3= 5T 1T e 1 =T

(a) & 3T (b) IR
(c) Sir=r uRyeqor (d) 3SEA
E TN
(1) (b), (a), (c), (d)
(3)  (c), (d), (a), (b)
TR |
(a) SRR goreT
(c) R d U=
ETE
() (), ), (), (c)
(3)  (c), (), (b), (d)
e
= -1

(a) TOTGS (HIHISIH) i & TH HTE i o0
(b) 5 o TR ATET FeHT A
(c) TURIH % ORI 3 § ferd deifger
(d) TooFer 3id O Y=MHAR & AT o
TR

(a) (b) (c) (d)
() (i) (iv) (ii) (i)
2 (v (ii) (iii) (i)
3 (ii) (iv) (iii)
@4 (i) (iii) (i) (iv)
T

=t - 1 = - 10

(a) TEAH G) w©E
(b) TNFMTERT (i) 3 TR
(c) TfRm (iii) shiTm
(d) ®RETT=HE  (iv) B
ETE

(a) (b) (c) (d)
(CO (Y (iii) (ii) (iv)
(2) (i) (iv) (ii) (i)
3) (v (iii) (i) (ii)
@4 (i) (iv) (i) (iii)
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43. Match the following List-I with List-II. Use the codes given below :

List -1 List — II
(a) X-linked gene (i) Hairy Pinna
(b)  Y-linked gene (i) Baldness
(c) Sex limited gene (ii1)) Hemophilia
(d) Sex-Influenced gene (iv) Beard development

Codes :

(2) (b) (©) (d
() (i) () (iv) (ii)
(2) (@) () (i) (i1)
3) (i) (1 (iv) (i)
@4 (i) (iv) (i1)

44. Match the following List-I with List-II. Use the codes given below :

List - I List — IT
(a) Father of Physical Anthropology (i) Morgan
(b) The term ‘Ethnic group’ (i) Blumenbach
(c) Linkage (i) Ashley Montagu
(d) New Physical Anthropology (iv) Washburn

Codes :

(2) (b) (©) (d
H (i1) (i) (iv)
(2) (@) (i) (i1) (1
3) (i) (i) () (iv)
4) (i) () (iv) (i1)

45. Match the following List-I with List-II. Use the codes given below :

List -1 List — 11
(Anthropologists) (Concepts)
(a) Marvin Harris (i)  Culture and Personality
(b) Julian Steward (i) Multilinear Evolutionism
(c) Franz Boas (iii)) Cultural Materialism
(d) Cora-du-Bois (iv) Historical Particularism

Codes :

(a) (b) (©) (d
H (i1) (i) (iv)
(2) (i) (i1) (iv) ()
3) (@) (i) (i1) ()
4) (i) (i) (iv) ()



43. fafafEd geEi-1 # < 78 w87 S G-I S &1 % e gaferd s | i R e e s wEm

HIFT
= -1 = - 10
(a) THRTEATSH () & P I 6 W et @31 i)
(b) TEHEAT S (i) TSI
(c) fomdifmasim (i) EmiHeE
(d) Tomfad SR (iv) <@l g
E TN
(a) (b) () (d)
(1) (i) (i) (iv) (i)
2  (@v) (i) (iii) (i)
(3) (i (i) (iv) (i)
CON () (i)  (iv) (i)

44, FrafefEd geEi-1 ® < T8 w87 B G-I S &1 % e gaferd s | i 5T e e s wE
T :
=t - 1 = - 10

(a) VRN o= & S G) A
(b) aﬁaw EFFE YN U (i) e

(c) feAspot (iil) T TR
(d) o IR Fraae (iv) @
&

(=N

(a) (b) (c) (d)
O @ (i) (i) ()
(2)  Gv) (i) (i) (@)
(3 Gy (i) @) (iv)
4 (i) (@) (iv) (i)

45. Trefcfea gai-1 9 S T 987 6 G- A&l % a1 GAfed wifse | 99 5T T 6 w5 wE
T :
it -1 T - 11
(AT (TR
(a) wemska () T R Sl
(b) SeEAEaE (i) TgEE faEEas
(c) ThST TS (ili) T Hiaehars
d) FRgEEE  (iv) el e sroes
&

(=N

(a) (b) (c) (d)
@O @ (i) (i) ()
(2 @) () (iv) (@)
(3)  Gv) (i) (i) (@)
@ Gy ) o @v) (@)



46. Match the following List-I with List-II. Use the codes given below :

List -1 List - 11
(Anthropologist) (Book)
(a) A.R.Radcliffe-Brown (i)  Structure and Function in Primitive Society
(b) M.N. Srinivas (i) Nation Building in Independent India
(c) Julian Steward (ii1)) Theory of Culture Change
(d) Edmund Leach (iv) Political System of Highland Burma

Codes :

(2) (b) (©) (d
(H (@) (i) (i1) (1
2 O (ii) (i) (iv)
3 O (i1) (iv) (i)
4) (i) (1 (i) (iv)

47. Match the following List-I with List-II. Use the codes given below :
List -1 List - 11
(Village) (Studied by)
(a) Rampur (Uttar Pradesh) (i)  Oscar Lewis
(b) Senapur (Uttar Pradesh) (ii)) Morris Opler

(c) Bisipara (Odisha) (i) F.G. Bailey
(d) Ranjana (West Bengal) (iv) G. Chattopadhyay
Codes :

(a) (b) (c) (d)
(1  aGv) (i) (i) (@)
@2 @ (i) (i) ()
(3) (i) (@) (iv) (i)
@ @) (@1v) (@) (i)

48. Match the following List-I with List-II. Use the codes given below :

List -1 List — II
(Tribe) (State)
(a) Birjia Tribe (i)  Tripura
(b) Chenchu Tribe (i) Odisha
(c) Bondo Tribe (iii)) Andhra Pradesh
(d) Riang Tribe (iv) Jharkhand

Codes :

(a) (b) (©) (d
H (i1) (i) (iv)
(2 (i) (iv) () (i)
(3) () () (iv) (i1)
4) (v) (i) (i1) ()



46. -1 3T GAI-11 T Tl BT T Y | e Sl Ferdal ¥ Tal SR Hl 99 h

=t - 1 = - 10
(ATEITE) (I5T®)

(a) UIR EHAG TR (1)  STSH GHIST | TG a7 Ui
(b) TAEA. sitqa™ (i) 9 oo 37 Sreuse grear

(c) SifeRH ware (iii) =R H FHoarast
(d) ueHE = (iv) Wfcfesrer fawen o grete st
%2

(=N

(a) (b) (c) (d)
(1 aGv) (i) (i) (@)
@2 @ (i) (i) ()
3 @ (i) (iv) (i)
@ () (@) (i) ()

47. -1 RN 1 GE-11 § e Y | e il I8T ¥ TEl ST H a9 B
=t - 1 = - 10
UE)) (rEATTHN)
(a) TIR W) (1) IR oAfag
(b) TR G (i) HRF TR
(c) Todiorer (3fig@m) (i) UHST S
(d) I (U S (iv) ST, T
TR
(a) (b) () (d)
(1 (v) (i) (i) (i)
@ 0 (i) (i)  (iv)
(3) (i) (i) (iv) (i)
@ (i) (v) (i) (i)

48. G-Il TRl 1 GEl-11 § e | e 0 Ferdal § Tl Il 997 L
=t - 1 et - 11
(ST (IT59)
(a) Tt sema () B
(b) EEYSESG (i) e
(c) el SFemd (i) oY Wew
(d) TEMFAG (iv) FRES
ETE
(a) (b) (©) (d
(H @ (i) (ii1) (iv)
2 (@ (iv) (D (ii1)
(3) (i) (D (iv) (i)
@4  @av) (ii1) (i) (D



49. Match an item in List-I with an item in List-II. Use the codes given below :

50.

List -1 List - II

(a) Typology (i) Radiometric dating
(b) Dendrochronology (i) Bones
(c) Isotope (iii) Tree
(d) Amino Acid racemization  (iv) Association
Codes :

(a) (b) (c) (d)
@O @ (i) (i) ()
2 ) (@) (iv) (i)
3 ) (@1v) (i) (@)
@ (Gv) (i) (@) (i)

Match an item in List-I with an item in List-II. Use the codes given below :

List -1
(System/Culture)

(a) Three Age system
(b) Palaeolithic culture
(c) Radio carbon dating
(d) New Archaeology
Codes :

(a) (b) (c)
@O @ (i) (iif)
2 ) (iv) (@)
(3) (i) (@) (iv)
@ () (111) (11)

List - II
(Person related)
(i) Binford
(i)
(111) Lubbock

Libby

(iv) Thomsen

(d)
(iv)
(111)
(i)
(@)




49. g1l T 1 G-I F Ao Y | e i Ferdal ¥ Tl ST I

Tt - 1 =t - 11
(a) afTRI () ear wiEwE FA
fefor
(b)  FEIBTCATRITHT (i) s
(c) EHR (i) F&T
(d) Ui amet et (iv) e

TN

(a) (b) (© (d)
(CORENCY (i) (i) (@v)
2 () (1) (v) (i)
(3 @G (@Gv) (i) (1)
@ Gv) (i) (1) (i)

50. g1 ! QT T G-I § HeT Y | e i Ferdal ¥ Tl ST B 95

T -1 = - 10
(SOTTeT/ AR ) (Terg =)
(a) I et qOTeAm G) fowE

(b) = U UTeTeT WRi (i) fetest
(c) T PEA FAFEROT (i) TH
(d) A (iv) gmEa

(a) (b) (c) (d)
@O @ (i) (i) ()
2 ) (iv) (@) (iif)
(3) (i) (@) (iv) (i)
4 (Gv) (i) (i) (@)
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